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I {a}  Explain five ways in which middlemen may assist in stabilization of prices for
agncultural commodities. { 1) marks)
(hy  With the aid of & diagram, explain what happens to equilibrium price and equilibrium
guantity as a result of an increase in the demand of a commodity. {10 marks)
2. (a)  Explain six measures that may be taken by the Central Bank of Kenya to reduce excess
money supply in the ¢économy. (12 marks)
(b}  Owutline four ways that may be used by the Government in borrowing funds o finance
public expenditure. (¥ marks)
1 {a) With the aid of a diagram, show the price and output that a monopoly should have in
order to make normal profits. (10 marks)
(b}  The table below contains population and national income figures of two countries,
Country | Population National Ineome
Ksh (Millions} | KshiMillions)
P 2400 30
Q) 8O0 12 :
Using the information in the above table: : :;\\
{1) Calculate per capita income of each coliotry; (4 marks)
(i1} Explain three limitations of using.per Capita income as a measure
of standard of living, ‘ (f marks)
4 (a) Explain five benefits that n‘nﬁ“? accrue to a firm that practises division
af fabour in production process; {10 marks)
(b}  Outline five differences between a Public Limited Company and a Private
Limited Company. {10 marks)
= {a)  Duthine six consequences of a rapidly growing population in a
Country. (12 marks)
(b}  Discuss four indicators of underdevelopement common in Less
Developed Countries (LDCs). (% marks)
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6. {a)

(D)

(a)

(b}

K. (&)
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Outline four constraints that may hinder the implementation of Harrod-Domar
Growth Model in Less Developed Countries (LIM s}, (8 marks)

Explain $ix measures that may be taken to correct an adverse balance of payments in
developing countries. (12 marks)

Explain Ave benefits that Kenya is likely to get from the recently revived East African
Unien. { 10 marks)

Outline five policies that Kenya may adopt to improve the welfare of her people,
(10 mrarks)

Agriculture contributes highly to the Gross Domestic Produet in Kenya
Outline five strategies that may be taken to improve productivity in this sector,
[ 10 marks)

With the aid of a diagram, explain what happens o price and income
ag a result of expansionary monetary and fiscal policies by the Governmeant
[0 marks)



